#### East Renfrewshire Council

#### **Transfers Report**

This report contains the transfers results.

Contest Name

Ward 5 - Newton Mearns South and Eaglesham

Valid Votes
Positions to be Filled
Quota

9,562 4 1,913

#### Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Andrew ANDERSON	Scottish Labour Party	1,831
Caroline BAMFORTH	Scottish National Party (SNP)	2,325
Paul EDLIN	Scottish Conservative and Unionist	2,016
Jim MCLEAN	Scottish Conservative and Unionist	1,584
Victoria PALMER-DYER	Scottish Green Party	456
Luke REID	Scottish Family Party Pro-Family, Pro-Marriage, Pro-Life	119
Amer SIDDIQUI	Alba Party for independence	120
Paul SMITH	Scottish Conservative and Unionist	1,067
Mark Niven TURNBULL	Freedom Alliance. Stop the Great Reset.	44
	Total	9,562

Candidate Caroline BAMFORTH Elected with 2,325 votes, being in excess of the quota of 1,913 Candidate Paul EDLIN Elected with 2,016 votes, being in excess of the quota of 1,913

This report contains the transfers results.

## Stage 2 - Surplus of Caroline BAMFORTH

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Andrew ANDERSON	607	0.17720	107.56040
Transfer to Jim MCLEAN	91	0.17720	16.12520
Transfer to Victoria PALMER-DYER	1,087	0.17720	192.61640
Transfer to Luke REID	20	0.17720	3.54400
Transfer to Amer SIDDIQUI	149	0.17720	26.40280
Transfer to Paul SMITH	18	0.17720	3.18960
Transfer to Mark Niven TURNBULL	6	0.17720	1.06320
No further preference	347	0.17720	61.48840
Not transferred due to rounding			0.01000
	Total		412.00000

This report contains the transfers results.

# Stage 3 - Surplus of Paul EDLIN

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Jim MCLEAN	1,666	0.05109	85.11594
Transfer to Victoria PALMER-DYER	23	0.05109	1.17507
Transfer to Paul SMITH	224	0.05109	11.44416
No further preference	81	0.05109	4.13829
Not transferred due to rounding			0.00256
	Total		103.00000

This report contains the transfers results.

# Stage 4 - Surplus of Andrew ANDERSON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Jim MCLEAN	323	0.01318	4.25714
Transfer to Victoria PALMER-DYER	573	0.01318	7.55214
Transfer to Luke REID	80	0.01318	1.05440
Transfer to Paul SMITH	90	0.01318	1.18620
Transfer to Jim MCLEAN	38	0.00233	0.08854
Transfer to Victoria PALMER-DYER	342	0.00233	0.79686
Transfer to Luke REID	23	0.00233	0.05359
Transfer to Paul SMITH	4	0.00233	0.00932
No further preference	694	0.01318	9.14692
No further preference	144	0.00233	0.33552
Not transferred due to rounding			0.01351
	Total		25.56040

This report contains the transfers results.

#### Stage 5 - Exclusion of Mark Niven TURNBULL

Stage 3 - Exclusion of Mark Miven Torribott			45.50350
Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Jim MCLEAN	1	1.00000	1.00000
Transfer to Victoria PALMER-DYER	7	1.00000	7.00000
Transfer to Luke REID	9	1.00000	9.00000
Transfer to Amer SIDDIQUI	4	1.00000	4.00000
Transfer to Paul SMITH	4	1.00000	4.00000
Transfer to Victoria PALMER-DYER	1	0.17720	0.17720
Transfer to Amer SIDDIQUI	3	0.17720	0.53160
Transfer to Paul SMITH	1	0.17720	0.17720
Transfer to Victoria PALMER-DYER	2	0.05109	0.10218
Transfer to Jim MCLEAN	3	0.01318	0.03954
Transfer to Victoria PALMER-DYER	5	0.01318	0.06590
Transfer to Luke REID	5	0.01318	0.06590
Transfer to Amer SIDDIQUI	1	0.01318	0.01318
Transfer to Victoria PALMER-DYER	1	0.00233	0.00233
Transfer to Amer SIDDIQUI	1	0.00233	0.00233
No further preference	19	1.00000	19.00000
No further preference	1	0.17720	0.17720
No further preference	1	0.05109	0.05109
No further preference	7	0.01318	0.09226
No further preference	5	0.00233	0.01165
Not transferred due to rounding			0.00000
	Total		<i>15</i> 50056

This report contains the transfers results.

## Stage 6 - Exclusion of Luke REID

133.48424

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Jim MCLEAN	30	1.00000	30.00000
Transfer to Victoria PALMER-DYER	21	1.00000	21.00000
Transfer to Amer SIDDIQUI	11	1.00000	11.00000
Transfer to Paul SMITH	19	1.00000	19.00000
Transfer to Victoria PALMER-DYER	6	0.17720	1.06320
Transfer to Amer SIDDIQUI	5	0.17720	0.88600
Transfer to Jim MCLEAN	8	0.05109	0.40872
Transfer to Paul SMITH	3	0.05109	0.15327
Transfer to Jim MCLEAN	9	0.01318	0.11862
Transfer to Victoria PALMER-DYER	12	0.01318	0.15816
Transfer to Amer SIDDIQUI	5	0.01318	0.06590
Transfer to Paul SMITH	5	0.01318	0.06590
Transfer to Jim MCLEAN	3	0.00233	0.00699
Transfer to Victoria PALMER-DYER	6	0.00233	0.01398
No further preference	47	1.00000	47.00000
No further preference	9	0.17720	1.59480
No further preference	4	0.05109	0.20436
No further preference	54	0.01318	0.71172
No further preference	14	0.00233	0.03262
Not transferred due to rounding			0.00000
-	Total		122 40424

Total 133.48424

This report contains the transfers results.

## Stage 7 - Exclusion of Amer SIDDIQUI

163.87934

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Jim MCLEAN	11	1.00000	11.00000
Transfer to Victoria PALMER-DYER	33	1.00000	33.00000
Transfer to Paul SMITH	7	1.00000	7.00000
Transfer to Jim MCLEAN	2	0.17720	0.35440
Transfer to Victoria PALMER-DYER	95	0.17720	16.83400
Transfer to Paul SMITH	1	0.17720	0.17720
Transfer to Jim MCLEAN	1	0.05109	0.05109
Transfer to Paul SMITH	1	0.05109	0.05109
Transfer to Jim MCLEAN	2	0.01318	0.02636
Transfer to Victoria PALMER-DYER	23	0.01318	0.30314
Transfer to Paul SMITH	1	0.01318	0.01318
Transfer to Jim MCLEAN	1	0.00233	0.00233
Transfer to Victoria PALMER-DYER	18	0.00233	0.04194
No further preference	84	1.00000	84.00000
No further preference	59	0.17720	10.45480
No further preference	2	0.05109	0.10218
No further preference	30	0.01318	0.39540
No further preference	31	0.00233	0.07223
Not transferred due to rounding			0.00000
	Tatal		4.00.07004

Total 163.87934

This report contains the transfers results.

### Stage 8 - Exclusion of Victoria PALMER-DYER

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Jim MCLEAN	73	1.00000	73.00000
Transfer to Paul SMITH	31	1.00000	31.00000
Transfer to Jim MCLEAN	90	0.17720	15.94800
Transfer to Paul SMITH	52	0.17720	9.21440
Transfer to Jim MCLEAN	7	0.05109	0.35763
Transfer to Paul SMITH	4	0.05109	0.20436
Transfer to Jim MCLEAN	71	0.01318	0.93578
Transfer to Paul SMITH	33	0.01318	0.43494
Transfer to Jim MCLEAN	30	0.00233	0.06990
Transfer to Paul SMITH	16	0.00233	0.03728
No further preference	413	1.00000	413.00000
No further preference	1,047	0.17720	185.52840
No further preference	14	0.05109	0.71526
No further preference	509	0.01318	6.70862
No further preference	321	0.00233	0.74793
Not transferred due to rounding			0.00000
	Total		737.90250

This report contains the transfers results.

### Stage 9 - Exclusion of Paul SMITH

1,154.35810

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Jim MCLEAN	1,045	1.00000	1,045.00000
Transfer to Jim MCLEAN	53	0.17720	9.39160
Transfer to Jim MCLEAN	192	0.05109	9.80928
Transfer to Jim MCLEAN	76	0.01318	1.00168
Transfer to Jim MCLEAN	15	0.00233	0.03495
No further preference	83	1.00000	83.00000
No further preference	19	0.17720	3.36680
No further preference	40	0.05109	2.04360
No further preference	53	0.01318	0.69854
No further preference	5	0.00233	0.01165
Not transferred due to rounding			0.00000
	Total		1,154.35810